

Republic of the Philippines

Department of Education

REGION III SCHOOLS DIVISION OFFICE OF BATAAN

DIVISION LETTER

No. 082 s. 2024

APR 2 9 2024

To: Assistant Schools Division Superintendent Chief Education Supervisors **Public Schools District Supervisors** Public Elementary School Principals/Heads District and School Property Custodians Administrative Officer II All Others Concerned

> This Office informs all concerned about the Schedule of Distribution and Pick-up of Bar Soap and Books by Children's International Philippines Inc on May 8-10, 2024, at 1Bataan Command Center, Orani, Bataan.

> All designated **District Property Custodians**, together with **one (1)** Administrative Officer II and two (2) utility personnel and in coordination with their respective District Supervisors, are advised to pick up their allocated bar soap and books on the corresponding date and time of distribution. Attached is the Schedule of Distribution and Allocation of Bar Soap and Book of the Recipient Schools for reference (see Enclosures).

> Further, this Division Letter shall serve as the Travel Authority of all concerned.

Please be guided accordingly.

CAROLINA S. VIOLETA, EdD, CESO V Schools Division Superintendent

April 25, 2024





















Republic of the Philippines

Department of Education

REGION III SCHOOLS DIVISION OFFICE OF BATAAN

Enclosure 1:

Schedule of Distribution and Pick Up of Bar Soap and Book

Day	Date	District	Time	District Property Custodian
	_	Orani	8:30 AM - 11:00	Arlene A. Antonio
	0.04024	Abucay	AM	Marifer T. Visda
1	8-May-24	Samal	1:30 PM - 4:00	Zaira Mae Villegas
		Orion	PM	Christian Michael Samonte
		Dinalupihan East	0.00.444.00	Pauline Mae Malate
		Dinalupihan West	8:30 AM – 11:00 AM	Kelvin John Ocampo
2	9-May-24	Pilar	Alvi	Ma Concepcion Ronquillo
		Bagac	1:30 PM - 4:00	Maria Ofelia Gaita
_		Hermosa	PM	Ardeth Belleza
		Mariveles Upper	8:30 AM - 11:00	Jomar Dela Cruz
3	10-May-	Mariveles Lower	AM	Donna N. Salcedo
3	24	Morong	1:30 PM - 4:00	Ma. Debbie Limongco
		Limay	PM	Aleah Louise Diwa

















ALLOCATION LIST FOR BAR SOAP

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
		经过多的企业的						
ABUCAY				1				
350	5	Abucay North ES	1750	101	118	131	0	0
66	5	Bangkal ES	330	20	26	20	0	0
248	5	Capitangan ES	1240	75	79	94	0	0
75	5	Hacienda ES	375	30	23	22	0	0
110	5	Kabukiran ES	550	37	36	37	0	0
316	5	Mabatang ES	1580	93	90	133	0	0
47	5	Jose Abejar MES	235	14	20	13	0	0
88	5	P. Rubiano ES	440	33	25	30	0	0
140	5	Salian ES	700	39	53	48	0	0
852	5	T. Pinpin MES	4260	217	281	303	51	0
107	5	Wawa ES	535	38	38	31	0	0
76	5	Bangkal Resettlement ES	380	22	29	25	0	0
498	5	B. Camacho NHS	2490	0	0	0	0	498
32	5	Mabatang NHS	160	0	0	0	0	32
27	5	Bangkal High School	135	0	0	0	0	27
100	1	ABUCAY DISTRICT (WINS)	100	0	0	0		0
		SUB TOTAL	15260					
BAGAC				,				
711	5	Bagac ES	3555	206	234	234	37	0
212	5	Banawang ES	1060	72	82	58	0	0
53	5	Binuangan ES	265	17	15	21	0	0
149	5	Binukawan ES	745	49	55	45	0	0
170	5	Overland ES	850	53	62	49	6	0
176	5	Parang ES	880	55	55	66	0	0
58	5	Paysawan ES	290	21	22	15	0	0
111	5	Pinagsumilan ES	555	36	41	33	1	0
308	5	Saysain ES	1540	103	106	99	0	0
63	5	Bagac NHS-Parang	315	0	0	0	0	63
265	5	E. C. Bernabe National High School	1325	0	0	0	0	265
87	5	Saysain NHS	435	0	0	0	0	87
23	5	Bataan High School for the Arts	115	0	0	0	0	23
61	5	Quinawan Integrated School	305	13	19	18	0	11
100	1	BAGAC DISTRICT (WINS)	100	0	0	0		0
		SUB TOTAL	12335					
DINALUPIH	AN EAST							
111	5	Bayan-Bayanan ES	555	41	42	28	0	0
171	5	Daang Bago ES	855	45	72	54	0	0
114	5	Dalao ES	570	37	41	36	0	0
779	5	Dinalupihan ES	3895	189	261	233	96	0

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
272	5	New San Jose ES	1360	83	103	86	0	0
122	5	Old San Jose ES	610	31	45	46	0	0
281	5	Pagalanggang ES	1405	89	109	82	1	0
122	5	Pentor ES	610	31	43	48	0	0
236	5	Pita ES	1180	70	81	85	0	0
151	5	San Simon ES	755	56	46	49	0	0
124	5	Sapang Balas ES	620	38	47	39	0	0
176	5	Sta. Isabel ES	880	49	69	58	0	0
107	5	Sto. Nino ES	535	30	34	43	0	0
295	5	Pagalanggang NHS	1475	0	0	0	0	295
97	5	Sta. Lucia HS	485	0	0	0	0	97
247	5	Tucop IS	1235	52	75	62	0	58
95	5	Layac Integrated School	475	25	27	28	0	15
100	1	DINALUPIHAN EAST (WINS)	100	0	0	0		0
		SUB TOTAL	17600					
DINALUPIH	AN WEST							
299	5	Bangal Elementary School	1495	100	94	105	0	0
294	5	Colo Elementary School	1470	88	125	81	0	0
102	5	Happy Valley ES	510	31	37	34	0	0
360	5	Jose C. Payumo Jr. ES	1800	119	136	105	0	0
76	5	Kataasan ES	380	20	32	24	0	0
238	5	Luakan ES	1190	73	73	92	0	0
191	5	Magsaysay ES	955	64	66	61	0	0
103	5	Maligaya ES	515	34	40	29	0	0
67	5	Pag-asa ES	335	22	30	15	0	0
244	5	Pinulot ES	1220	87	78	79	0	0
369	5	Roosevelt ES	1845	93	136	140	0	0
287	5	Saguing ES	1435	89	104	94	0	0
235	5	San Benito ES	1175	73	89	73	0	0
377	5	San Pablo ES	1885	137	128	112	0	0
511	5	San Ramon ES	2555	140	182	189	0	0
171	5	Naparing ES	855	54	48	69	0	0
252	5	Jose C. Payumo Jr. Memorial High School	1260	0	0	0	0	252
336	5	Luakan NHS	1680	0	0	0	0	336
228	5	Magsaysay NHS	1140	0	0	0	0	228
245	5	Luakan NHS - Annex	1225	0	0	0	0	245
142	5	Roosevelt National High School	710	0	0	0	0	142
89	5	Tubo-Tubo Integrated School	445	20	31	23	0	15
125	5	Payangan Integrated School	625	30	36	30	0	29
100	1	DINALUPIHAN WEST (WINS)	100	0	0	0	U	0
100	1	SUB TOTAL	26805	0	U	U		U
HERMOSA		SUB TUTAL	20000					

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
190	5	Almacen ES	950	74	59	57	0	0
182	5	Bacong ES	910	67	66	49	0	0
306	5	Balsik ES	1530	85	104	117	0	0
128	5	Bamban ES	640	38	51	39	0	0
639	5	Casupanan ES	3195	192	246	201	0	0
285	5	Culis ES	1425	91	104	90	0	0
512	5	Hermosa ES	2560	133	172	164	43	0
243	5	Mambog ES	1215	84	85	74	0	0
219	5	Pandatung ES	1095	76	73	70	0	0
73	5	Parapal ES	365	24	26	23	0	0
715	5	Tipo ES	3575	235	266	214	0	0
92	5	Mandama Elementary School	460	27	35	30	0	0
313	5	Mabuco Elementary School	1565	107	111	95	0	0
138	5	Balsik NHS	690	0	0	0	0	138
367	5	Hermosa NHS	1835	0	0	0	0	367
126	5	Hermosa NHS-Annex	630	0	0	0	0	126
195	5	Sumalo IS	975	46	42	49	0	58
112	5	Saba Integrated School	560	28	27	34	0	23
130	5	St. Ma. Virginia P. Leonzon Memorial Integrated School	650	39	32	31	0	28
126	5	Pastolan Integrated School	630	40	30	33	0	23
154	5	Mabiga Integrated School	770	46	45	47	0	16
99	5	Maite Integrated School	495	24	35	20	0	20
109	5	Pulo Integrated School	545	22	39	27	0	21
100	1	HERMOSA DISTRICT (WINS)	100	0	0	0		0
		SUB TOTAL	27365					
LIMAY								
363	5	Alangan ES	1815	117	139	107	0	0
167	5	Arsenal ES	835	59	58	50	0	0
335	5	St. Francis ES (Bacong)	1675	110	111	114	0	0
181	5	BLISS ES	905	71	61	49	0	0
137	5	Carbon ES	685	54	38	45	0	0
265	5	Duale ES	1325	97	99	69	0	0
208	5	Gabaldon ES	1040	68	77	63	0	0
127	5	Kitang ES	635	48	40	39	0	0
974	5	Lamao ES	4870	328	337	309	0	0
875	5	Limay ES	4375	263	274	253	85	0
383	5	Luz ES	1915	127	120	136	0	0
105	5	Peas ES	525	43	28	34	0	0
616	5	St. Francis II Elementary School	3080					
324	5	Lamao NHS		226	184	206	0	0
627	5		1620	0	0	0	0	324
		Limay NHS	3135	0	0	0	0	627
208	5	St. Francis NHS	1040	0	0	0	0	208

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
94	5	Kinaragan Integrated School	470	29	23	22	0	20
100	1	LIMAY DISTRICT (WINS)	100	0	0	0		0
		SUB TOTAL	30045					
MARIVELES	LOWER A							
1725	5	A. G. Llamas ES	8625	518	592	533	82	0
868	5	Alasasin ES	4340	279	288	285	16	0
730	5	Balon ES	3650	229	278	223	0	0
210	5	Baseco ES	1050	69	74	67	0	0
144	5	Batangas 2 ES	720	45	44	55	0	0
223	5	Bayview ES	1115	58	75	90	0	0
273	5	Bepz ES	1365	69	100	100	4	0
1038	5	Cabcaben ES	5190	327	343	317	51	0
550	5	Ipag ES	2750	180	186	184	0	0
196	5	Alion Elementary School	980	63	62	71	0	0
511	5	Sisiman ES	2555	155	158	198	0	0
231	5	Sto. Niño Biaan ES	1155	69	80	82	0	0
261	5	Townsite ES	1305	93	82	86	0	0
165	5	Renato L. Cayetano Memorial School	825	45	60	60	0	0
129	5	Marina Bay ES	645	45	35	49	0	0
345	5	Mt. View ES	1725	131	114	100	0	0
716	5	Mariveles NHS Cabcaben	2240	0	0	0	0	448
716	5	Mariveles NHS, Poblacion	3580	0	0	0	0	716
48	5	Mariveles NHS Malaya	390	0	0	0	0	78
125	5	Baseco National High School	240	0	0	0	0	48
120	3	Ipag National High School Mariveles NHS Cab. Annex- New	625	U	0	0	U	125
41	5	Alion	205	0	0	0	0	41
113	5	Mariveles NHS CabAnnex-Batangas	565	0	0	0	0	113
91	5	Mariveles NHS Pob. Annex-Sisiman	455	0	0	0	0	91
209	5	Mariveles NHS Cab. Annex-Alasasin	1045	0	0	0	0	209
0	5	Mariveles NHS - Camaya Campus		0	0	0	0	0
0	5	Mariveles SHS - Sitio Mabuhay		0	0	0	0	0
77	5	Biaan Aeta IS	385	19	23	15	0	20
438	5	Lucanin Integrated School	2190	114	139	144	0	41
100	1	MARIVELES LOWER (WINS)	100	0	0	0		0
100	1	MARIVELES UPPER (WINS)	100	0	0	0		0
MODELIA		SUB TOTAL	50115					
MORONG	-	D: 1 50						924
267	5	Binaritan ES	1335	90	87	90	0	0
91	5	Kanawan Integrated School	455	31	28	32	0	0
283	5	Mabayo ES	1415	100	95	88	0	0
122	5	Minanga ES	610	31	51	40	0	0

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
778	5	Morong ES	3890	237	246	260	35	0
334	5	Nagbalayong ES	1670	114	119	101	0	0
277	5	Facundo Angeles MES	1385	99	104	74	0	0
211	5	Panibatuhan ES	1055	62	82	67	0	0
376	5	Morong NHS	1880	0	0	0	0	376
104	5	Nagbalayong NHS	520	0	0	0	0	104
121	5	Morong NHS-Annex (Mabayo)	605	0	0	0	0	121
15	5	Kanawan IS	75	0	0	0	0	15
160	5	Sampaloc Integrated School	800	35	53	44	0	28
100	1	MORONG (WINS)	100	0	0	0		0
		SUB TOTAL	15795					
ORANI								
198	5	Alikabok ES	990	54	73	71	0	0
73	5	Kabalutan ES	365	22	32	19	0	0
326	5	Kaparangan ES	1630	79	114	106	27	0
1123	5	Orani North ES	5615	329	387	354	53	0
431	5	Orani South ES	2155	121	161	149	0	0
184	5	Pag-asa ES	920	56	77	51	0	0
129	5	Pantalan Bago ES	645	48	48	33	0	0
314	5	Pantalan Luma ES	1570	99	105	110	0	0
357	5	Paraiso ES	1785	104	134	119	0	0
92	5	Sibul ES	460	20	39	33	0	0
106	5	Tala ES	530	33	41	32	0	0
96	5	Talimundoc ES	480	25	30	41	0	0
361	5	Tapulao ES	1805	133	115	113	0	0
518	5	Orani NHS	2590	0	0	0	0	518
0	5	Gov. Efren B. Pascual Sr. Orani Integrated Central School	2390	0	0	0	0	0
270	5	Orani NHS - Parang-Parang	1350	0	0	0	0	270
74	5	Orani NHS - Pagasa	370	0	0	0	0	74
106	5	Legua Integrated School	530	30	31	27	0	18
189	5	Pulo Integrated School	945	53	54	45	0	37
204	5	Doña Integrated School	1020	63	68	59	0	14
100	1	ORANI (WINS)	100	0	0	0		0
100		SUB TOTAL	25855		0			-
ORION		GOBTOTAL	20000					
57	5	Bantan ES	285	17	16	24	0	0
362	5	Bilolo ES	1810	109	128	125	0	0
86	5	Calungusan ES	430	20	35	31	0	0
45	5	Camachile ES	225	12	16	17	0	0
372	5	Capunitan ES	1860	102		130	0	
				-	140			0
399	5	Daan Pare ES	1995	131	149	119	0	

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
50	5	Eva Aeta ES	250	10	24	16	0	0
321	5	General Lim ES	1605	101	112	108	0	0
781	5	Arellano Elementary School	3905	215	280	238	48	0
167	5	Pablo R. Roman ES	835	44	72	51	0	0
169	5	Puting Buhangin ES	845	48	58	62	1	0
231	5	Sabatan ES	1155	86	87	58	0	0
71	5	Sta. Elena ES	355	19	25	27	0	0
206	5	Sto. Domingo ES	1030	68	74	64	0	0
312	5	Bataan School of Fisheries	1560	0	0	0	0	312
79	5	Udyong National High School	395	0	0	0	0	79
294	5	Justice E.A.Gancayco MHS	1470	0	0	0	0	294
100	1	ORION (WINS)	100	0	0	0		0
		SUB TOTAL	20110					
PILAR			10020000					
328	5	Alauli ES	1640	114	119	95	0	0
158	5	Bagumbayan ES	790	49	57	52	0	0
146	5	Balut ES	730	55	51	40	0	0
127	5	Diwa ES	635	41	42	44	0	0
95	5	J.S. Herrera Sr. MES	475	19	42	34	0	0
190	5	Liyang ES	950	73	61	46	10	0
212	5	Nagwaling ES	1060	78	81	53	0	0
305	5	Panilao ES	1525	99	106	100	0	0
75	5	Pantingan ES Pilar ES	375	22	30	23	0	0
385	5		1925	110	132	108	35	0
202	5	Sta. Rosa ES Wakas ES	1010	65	60	77	0	0
515	5		935	64	60	63	0	515
81	5	P. Roman NHS	2575	0	0			-
100	1	Dr. Victoria B. Roman MHS PILAR (WINS)	405 100	0	0	0	0	81
100	1	SUB TOTAL	15130	U	0	U		U
SAMAL		SUB TOTAL	15130					
220	5	Adamson ES	1100	73	85	62	0	0
156	5	Calaguiman ES	780	44	60	52	0	0
232	5	Gugo ES	1160	70	87	75	0	0
95	5	Asuncion Consunji MES	475	26	35	34	0	0
149	5	Lalawigan ES	745	46	53	50	0	0
524	5	Samal North ES	2620	155	166	163	40	0
235	5	Samal South ES	1175	78	86	71	0	0
197	5	Sapa ES	985	67	82	48	0	0
185	5	Samal NHS	925	0	0	0	0	185
128	5	Samal NHS - Annex	640	0	0	0	0	128
155	5	Palili Integrated School	775	40	47	29	0	39
140	5	F.C. Del Rosario Integrated School	700	37	36	35	0	32

Beneficiary	No. of Bar Soap	School	Total	Grade 4	Grade 5	Grade 6	SNEd (Non- Graded ES) (d)	Grade 7
100	1	SAMAL (WINS)	100	0	0	0		0
		SUB TOTAL	12180					
205	0	SDO BATAAN	205	0	0	0		0
		GRAND TOTAL	268800					

QTY	DISTRICT	NO. OF BOX	NO. OF PIECE
15260	ABUCAY	76	60
12335	BAGAC	61	135
17600	DINALUPIHAN EAST	88	0
26805	DINALUPIHAN WEST	134	5
27365	HERMOSA	136	165
30045	LIMAY	150	45
50115	MARIVELES UPPER AND LOWER	250	115
15795	MORONG	78	195
25855	ORANI	129	55
20110	ORION	100	110
15130	PILAR	75	130
12180	SAMAL	60	180
205	SDO BATAAN	1	5

MANE Marco	л	0	0	0	0	0	-	1	D	1	-	-	0	0	Batch 2	Arts	Making Music	
MANE SUBJECT Mary	15	-	<u></u>	→	Ľ	L 4	<u></u>	-	_	2	2		1	1	Batch 2	Arts	Making Music	
MARIE MARIE PROPRIES CONTRIBED CONSTRUCTION OR CONTRIBED	16	1	-	-	1	1		2	1	2	2	1	1	_	Batch 2	Arts	Making Music	1
MANKE Schelland Schellan																	2	BATCH
Annex Anne	7,548	396	488	581	702	457	495	500	612	789	845	584	520	579	CH 1 TOTAL	BAT		
MANE	84	4	٥,	6	00	Ŋ	6	б	7	9	10	6	6	6	Batch 1	Science	Worktext	
Part	70	4	и	5	7	4	Uī	ъ	6	6	œ	5	Uī	Un.	Batch 1	Science	Science Experiments	
MAME Substitucing	ζ1 Δ	ω	w	4	5	ω	4	4	4	6	6	4	4	4	Batch 1	Science	Texas Science Grade 7	
MAME Substitution for forms Substitution Su	T'172	16	711	133	100	COT	711	711	7-40	101	133	100	511	757	DOLLI T	COLCURC	Laboratory Activities Manual Student Edition	,
MANE SACIS-PRIME PROJECT MATCH NO. Marcy Register Religion Register	112	6	7	9	10	7	7	7	9	12	12	133	8	127	Batch 1	Science	Lab Manual Hsp Georgia Science	
MANE SUBJECT MATCH NO ABSTET MATCH NO ABSTET March No. Design Desi	60	ω	4	Οī	6	4	4	4	И	(J)	6	U	4	O1	Batch 1	Mathematics	Mathematics Course 1	
MANE SUBJECT MATCH NO. March	310	16	20	24	29	19	20	20	25	33	35	24	21	24	Batch 1	Mathematics	Pre-Algebra	
MANE SUBJECT MATCH NO. March Region Company March Region Company Region	92	CT.	6	7	9	6	6	6	7	10	10	7	6	7	Batch 1	Mathematics	South Carolina Notetaking Guide Mcdougall Little	
MAKE SUBSICE BUTCH NO. Marcy Bayes Chalaphara Marcy Ma	529	28	34	41	49	32	34	34	43	56	60	41	36	41	Batch 1	Mathematics	Saxon Geometry Student Edition, Practice Workbook	
MANE SUBJECT MATCH NO Marcy Maye Maye Marcy Maye Maye Marcy Maye Maye Maye Marcy Maye	100	UI	6	œ	9	6	6	7	œ	11	11	8	7	co	Batch 1	Mathematics	Preparation For Middle School Math Grade 7 Student Workbook	26
MARE SUBJECT BATCH NO. BATCH NO. Change No.	176	9	11	14	16	11	11	11	14	19	20	14	12	14	Batch 1	Mathematics	Oklahoma Test Prep Workbook For Holt Middle School Math Course 1 Help For Occt	. 25
MANE SUBJECT BATCH NO. Batch	220	12	14	17	20	13	14	15	18	23	25	17	15	17	Batch 1	Mathematics	Volume 2	24
MANE SUBJECT BATCH NO. Amoty Region Completing Completin	224	12	15	17	21	14	15	15	18	24	24	17	15	17	Batch 1	Mathematics	Holt Mcdougal Mathematics Course 2	23
MANE Subject MATCH NO Abutony Region Debushphine Debushphi	251	200	16	19	23	15	17	17	20	36	79	20	17	19	Batch 1	Mathematics	Holt Mcdougal Geometry	22
MARE SUBJECT BATCH NO. Abscessment English Less pass Designation of the forms of the fo	419	22	27	32	39	25	28	28	34	44	47	32	29	32	Batch 1	Mathematics	Support For Ell Holf Math Alashra I Commercial Radii Laiiguage	20
MAME SUBJECT BATCH NO. Amort No. Amort No. Amort No. Amort No. Amort No. Amort No. Design No. Amort No. Amor	61	ω	4	5	6	4	4	4	5	6	6	5	4	5	Batch 1	Literature	Mcdougal Little The Language Of Literature	19
MAME SUBJECT Balth SUBJECT BATCH NO. Aucay Bagac Bagac Bash	175	9	11	13	16	Е	12	12	14	18	20	14	12	13	Batch 1	Literature	Louisiana Mcdougal Little Literature British Literature	18
Part	18	1	1	H	<u> </u>	1	2	2	2		2	2	1	1	Batch 1	Literature	Indiana Mcdougal Little Literature Teachers Edition	17
NAME SUBJECT BATCH NO. Abucay Bagor Designation Test Formose (Pacillation Test Formis B) Assessment Barich I 22 Do. Barich I 22 Plant I Plant I<	204	11	13	16	19	12	13	13	17	21	23	16	14	16	Batch 1	Literature	Literature Literature	16
NAME SUBJECT BATCH NO. Abucay Bages Desaluphan (manual particulation) Limay Maritycless (manual particulation) Manual particulation	24	0	2	2	2	0	2	2	2	ω	ω	2	2	2	Batch 1	Literature	Handbook Teacher Edition Second Course	15
NAME NAME SUBJECT BATCH NO. Abucay Bagac Dinalipahan Din	704	37	46	54	66	43	46	46	57	74	79	54	48	54	Batch 1	Health	Holt Decision For Health	14
NAME SUBJECT BATCH NO. Abucay Bagac Insulation Test Forms B Rack 1 Limay Marveles Meak Marveles Morong Orani Orion Pliar Samal ade/ Evaluation Test Forms B Vance Reader Jole De Lire 3 Assessment Barch 1 22 20 23 30 23 19 15 17 26 27 18 15 19 15 12 11 17 14 12 9 18 12 11 17 14 12 9 18 12 11 17 14 12 9 18 12 11 17 14 12 9 18 12 11 17 14 12 9 18 12 11 18 12 11 14 12 12 11 16 13 11 9 18 14 12 11 18 12 11 14 12 12 11 18 12 11 18	168	9	11	13	16	10	11	11	14	17	18	13	12	3 13		English	Vocabulary Workshop Introductory Course	13
NAME SUBJECT BATCH NO. Abucay Bagac Inalignams (many) (many) Limay Mariveles (many) Mariveles (many) More (many) More (many) Mariveles (many) More (many) Mariveles (many) More (many) Mariveles (many) More (many) Mariveles (many) More (many) More (many) More (many) More (many) More (many) More (many) Mariveles (many) More (many) More (many) Many	52	w	ω	4	5	ω	ω	4	4	5	6	4	4	4		English	The Holt Reader An Interactive Worktext	17
Part	92	(n	6	7	9	6	6	6	7	10	10	7	6	7		English	Language Network - Reteaching More Practice Application	10
NAME SUBJECT BATCH NO. Abucay Bages Inalignation of the pages Limay Mariveles (Mariveles Mariveles Mariveles Morong) Mariveles Mariveles Morong Mariveles Mariveles Morong Mariveles Mariveles Morong Orani Orion Pilar Sanial adde 7 Evaluation Test Forms B Vance Reader Jole De Lire 3 Assessment Batch 1 22 20 22 32 30 23 19 18 17 26 22 18 15 Home With Phonics Grade 3 English Batch 1 14 12 14 19 19 15 12 11 17 14 12 9 Home With Phonics Grade 3 English Batch 1 13 12 13 20 18 14 12 14 19 19 15 12 11 17 14 12 9 Ind Course Reader Jole De Lire 3 Assessment Batch 1 English Batch 1 13 12 11 8 7 6 10 8 7 5 <td>72</td> <td>4</td> <td>5</td> <td>6</td> <td>7</td> <td>4</td> <td>UT</td> <td>И</td> <td>6</td> <td>7</td> <td>7</td> <td>o</td> <td>5</td> <td>5</td> <td>Batch 1</td> <td>English</td> <td>Houghton Mifflin Reading Medallion Eld Support System Grade 3</td> <td>9</td>	72	4	5	6	7	4	UT	И	6	7	7	o	5	5	Batch 1	English	Houghton Mifflin Reading Medallion Eld Support System Grade 3	9
NAME SUBJECT BATCH NO. Abucay Bagac Dinatupihan Permosa Limay Mariveles Mariveles (upper) Mariveles Morong Morong Orani Orion Pilar Samal adde 7 Evaluation Test Forms B Vance Reader Joie De Life 3 Assessment English Batch 1 22 20 22 32 30 23 19 18 17 26 22 18 15 Vance Reader Joie De Life 3 English Batch 1 14 12 14 19 19 15 12 11 17 14 12 9 Home With Phonics Grade 3 English Batch 1 13 12 13 20 18 14 12 11 16 13 11 9 Informal Standards Enrichment Workbook World English Batch 1 8 7 8 12 11 8 7 5 6 10 8 7 5 Informal With Phonics Grade 3 English Batch 1 14 13	24	-	2	2	2	1	2	2	2	2	2	2	2	2	Batch 1	English	Support System Grade 3	8
NAME SUBJECT BATCH NO. Abucay Bagac Pinalipihan Pinali	28	_	2	2	ω	2	2	2	2	3	3	2	2	2	Batch 1	English	Houghton Mifflin Lectura Arenturas	7
NAME SUBJECT BATCH NO. Abucay Bagac Dinalispihan Plant	40	2	w	ω	4	2	ω	ω	ω	4	4	ω	ω	ω	Batch 1	English	Holt Elements Of Literature The Hold Reader Third Course	6
NAME SUBJECT BATCH NO. Abucay Bagac Dinalighban Dinalighban Batch 1 22 20 22 32 30 23 19 18 17 26 22 18 15 Home With Phonics Grade 3 English Batch 1 13 12 13 20 18 14 12 12 11 16 13 11 9 Story Medieval And Early Modern Times BATCH NO. Abucay Bagac Dinalighban Dinalighban Dinalighban Batch 1 22 20 22 32 30 23 19 18 17 26 22 18 15 Batch 1 14 12 14 19 19 15 12 12 11 16 13 11 9 Story Medieval And Early Modern Times BATCH NO. Abucay Bagac Dinalighban Dinalighban Dinalighban Batch 1 22 20 22 32 30 23 19 18 17 26 22 18 15 Batch 1 13 12 13 20 18 14 12 12 11 16 13 11 9 Batch 1 13 12 13 20 18 14 12 12 11 16 13 11 9 Story Medieval And Early Modern Times BATCH NO. Abucay Bagac Dinalighban Dinalighban Dinalighban Batch 1 22 20 22 32 30 23 19 18 17 26 22 18 15 Batch 1 3 12 13 20 18 14 12 12 11 16 13 11 9 Sanal Dinalighban Dinalighban Batch 1 22 20 28 23 19 18 17 26 22 18 15 Batch 1 3 12 13 20 18 14 12 12 11 16 13 11 9 Sanal BATCH NO. Abucay Bagac Batch 1 22 20 23 30 23 19 18 17 26 22 18 15 Batch 1 3 12 13 20 18 14 12 12 12 11 16 13 11 9 Sanal Batch 1 3 20 30 23 19 18 17 26 27 18 15 Batch 1 3 12 13 20 18 14 12 12 12 11 16 13 11 9 Story Medieval And Early Modern Times	184	10	12	14	17	11	12	12	15	19	21	14	13	14	Batch 1	English	Grammar, Usage And Mechanics Workbook Language Network	И
NAME SUBJECT BATCH NO. Abucay Bagac Dinality/Ihan Dinality/Iha	104	(A	7	œ	10	6	7	7	œ	11	12	œ	7	œ	Batch 1	English	California Standards Enrichment Workbook World History Medieval And Early Modern Times	4
NAME SUBJECT BATCH NO. Abucay Bagac Dinalispikan Plant	174	9	11	13	16	11	12	12	14	18	20	13	12	13	Batch 1	English	At Home With Phonics Grade 3	w
NAME SUBJECT BATCH NO. Abucay Bagac Dinalupihan Dinalupihan Hermosa Limay Mariveles Mariveles Morong Orani Orion Pilar Samal	284	15	18	22	26	17	18	19	23	30	32	22	20	22	Batch 1	Assessment	Grade 7 Evaluation Test Forms B Advance Reader Joie De Lire 3	2
NAME SUBJECT BATCH NO. Abucay Bagac East West Hermosa Limay Lower Upper Mariveles Morong Orani Orion Pilar Samal																	H1	BATC
	TOTAL	Samal	Pilar	Orion	Orani	Morong	Upper	Lower	Limay	Ŧ	Dinalupihan West	Dinalupikar East	Bagac	Abucay	BATCH NO.	SUBJECT		NO.

A MACOIO I	1		52 Advar		50 MI Lit		48 Litera		46 Suppl	1mH Ct			42 Writin			· 39 Write		36 Voca			1	31 Strat				27 Mx E	26 Mx E	25 Math		L	22 Lanc		\perp	18 Inte					13 Grai								NO.
		Algebra 1	Advanced Mathematical Concepts	ture	are	MI Lit 08 / Literature Helps You Answer Them	Literature Practice Book	Hmr Ca Eld Supprt Guide Level 3 / Medallion Eld Support System	ort System	Hmr Ca Eld / Eld Support System	HIt Pecsn / HIth / Decision For Health	Siericoe / On Macgraw Hill / Leen Health Course	Writing And Grammar	r'S Choice Grammar And Composition	Writer'S Choice Grammar And Composition	ar's Choice Grammar And Composition	Working Word In Spelling	Vocabulary Workshop	Vocabulary Power	The Interactive Reader Plus	The Holt Reader Grade 9	Strategies For Success In Reading	Spelling Power Work Book	Skills Development Workbook	Math Expressions	Mx English 2011 Student Activity Bk Lvl 3 Vol. 2 /	Mx English 2011 Student / Math Expression V2 Preparation For Middle School Math	Math Matters 3	3 lar F	olo 3 Iar / The Interactive Reader Plus	Language Network	Interactive Reader Grade 10	Interactive Reader	Interactice Reader	Orer	Guided Reading And Study Workbook - Science		Grammar And Language Workbook Grade 10	Grammar And Language Book		FI HIt Rdr / The Holt Reader	Concept Book	A Sense Of Dance	Decodable Takehomebook	Assessment Guide	Theatre Art And Action	NAME
Matternation	Mathematics	Mathematics	Mathematics	Literature	Literature	Literature	Literature	Health	Health	Health	Health	Health	English	English	English	English	English	English	English	English	English	English	English	English	Ligisi	English	English	English	English	English	English	English	English	English	English	crigiish	- Subin	English	English	English	English	English	Assessment	Assessment	Assessment	Arts	TO3T BILD
pdttl 2	Ddt(1) Z	Datch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2			Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	2 Instead	Ratch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Patch 2	pdt(i) 2	Date: A		Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Batch 2	Ratch 7	DATCH NO
0) -	• 0	0	16	18	н	-	13	6	9	25	CT	0	0		2	0	7	-1	1	ν α	4	2	- 0	,	2	42	0	37	7	0	- ω	2	1-4		-			0	26	18	0 0	5 ω	0	14	Abucay	African
c	-		0	14	16	₽	ш	12	57	00	22	S	0	0	0	2	0	6	-	-		4	2	0 0	·	-	37	0	33	7	0	οω	2	1	ć «	, -		,	- U	23	16	000	S	0	12	ac	
0			0	16	18)-A	1	13	6	9	25	v	1	<u></u>		2 2		7	2	2	υ (α	5	2			0	42	_	37	7	0	: ω	2	1 4			,	- 6	00	26	18		۰ س	1	14	A	Dinalupihan
_	2		0	23	25	ш		18	7	14	35	co	-	₽4	→	Ju	3	10	ω	ω	27	6	2	-		٥	60		54	11	0	4	2	1	14	1	-	-	2	38	27	j1 ji	4	-	19	5	Dinalupihan
0	2	0	0	22	23	1	.	17	7	13	33	7	-			Ju	, -	9	ω	ω	3 11	6	ω			0	57	1	51	10	0	4	2	1	5 4	7	,	-	2	36	25	10	4 0	-	19	I	-
0	-		0	17	18	₽	1	14	6	10	26	6	0	0	- 1	2	0	7	2	2	2 00	5	2	-		2	44	0	39	8	0	3	2	1	10	2		0 1	0	27	19	00	ω	-	15	Limay	
1	1		-	14	15	<u>ш</u>	,_	11	5	8	21	И		p=4	0	u	٠,	7	2	2	1	4	2	-	-	-	35	1	31	7	-	οω	2	1	, a	2	-	4	- 0	22	15		ω	1	12	Lower	Mariveles
_	-		0	14	15	1 -4	,	11	Uī	00	21	4	1	1	0	2	٠,	6	2	2	-	4	2	-		-	35	p=4	31	6	1	ω	1	1	ά α	2	-	1	_ U	22	15		ω	1	12	Upper	Mariveles
c		-	0	13	14	щ	1	10	4	7	19	4	0	0	0	1	0	5	1	-	40	4	2	0 -	-	-	33	0	29	6	0	2	1	1	: \			0	4	21	14	00	2	0	11	Morong	
C) -		0	20	21	just.	-	16	6	11	30	6	0	0	-	s u	ا د	8	2	2	20	6	ω	<u></u>		2	50	0	45	9	0	4	2	1	11	7	-	-	2	31	22	110	4	1	17	Orani	2
c			0	16	18	Д	1	13	6	9	25	5	0	0		2	0	7	2	2	υ α	5	2	0		2	42	0	37	7	0	1 3	2	0	. 9)		0 1	20	26	18	000	s w	0	14	Orion	
0		.	0	14	15	3 1	0	11	υī	00	21	4	0	0	0	2	0	6	2	2	1	4	2	10	> -	-	35	0	31	6	0	ω	1	0	, a) I		0 1	- U	22	15	00	o w	0	12	Pllar	nila.
C	-	0	0	11	12	0	0	9	4	6	17	4	0	0	0	1	, 0	(Jr	1	-	- 0	ω	1		-	-	28	0	25	5	0	2	-	0	0			,	1 4	18	12	0 0	2	0	90	Samal	
3	10	1	1	210	228	12	11	168	72	120	320	68	5	5	7	30	0	90	24	24	104	60	27	10	20	30	540	5	480	96	2	40	22	10	120	19		7	72	338	234	0 4	40	7	180	TOTAL	VANA

1 1	55 10 29 29 21 2 2 2 2 2 2 2 2 2 2 2 2 2	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			1 1 1 5 6 0 0 3 3 3 3 3 3 3 3 3 3 4 4 4 0 0 2 2 3 3 4 3 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 0 0 1 1 1 0 2 2 2 2 1 0 1 1 1 0 0 1 1 0 0 0 1 0 0 0 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1 1 1 2 2 2 1 3 4 3 4 3 4 3 4 3 4 3 4 3 4 3 4 3 4 3	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 0 0 1 1 1 0 2 2 2 2 1 0 1 1 1 0 0 1 1 1 0 0 0 1 0 0 1 0 0 56 45 45 42 1 1 1 0 0 1 1 1 0 0 1 1 1 0 0 1 1 1 0 0 1 1 1 1 0 2 1 1 1 1 0 2 1 1 1 1 0 2 1 1 1 0 0 1 1 1 0 0 1 1 1 0 2 1 1 1 0 0 1 1 1 0 0 1 1 1 0 2 1 1 1 0 0 1 1 1 0 2 1 1 8 17 25 0 1 1 1 0 0 1 1 1 0 0 2 2 2 2 2 2 2 2	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	34 11 11 14 22 18 0 11 11 11 11 11 11 11 11 11 11 11 11 1		1 1 1 1 5 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 0 0 1 1 1 0 2 2 2 2 1 0 1 1 1 0 0 1 1 1 0 0 1 0 0 0 1 0 0 0 1 0 0 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	4 1 1 1 1 1 2 5 0 2 1 4 4 1 1 7 0 0 2 0 1 1 1 1 1 1		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 0 0 1 1 1 1 0 2 2 2 2 1 0 1 1 1 0 0 1 1 1 0 0 1 1 0 0 0 1 0 0 1 1 1 1 0 0 1 1 1 1 1 1 1 2 1 1 1 1 1 2 1 1 1 1 1 2 1 1 1 0 1 1 1 0 2 1 1 1 1 0 2 1 1 1 1 0 3 3 3 3 2 0 1 1 1 1 0 2 1 1 1 0 0 1 1 1 0 0 1 1 1 0 0 1 1 1 0 34 28 27 25	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	55 15 15 15 15 15 15 15 15 15		1 1 1 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 0 0 1 1 1 0 2 2 2 2 1 0 1 1 0 0 1 1 0 0 1 0 0 1 0 0 1 0 0 1 0 0 1 1 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 0 0 3 3 3 3 2 1 1 1 1 1 0 0 1 1 1 1 0 2 1 1 1 1 0 2 1 1 1 1 0 2 1 1 1 1 0 0 1 1 1 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 10 22 23 23 23 24 24 24 24 24 24 24 25 26 27 27 27 27 27 27 27 27 27 27	0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1 1 2 2 8 8 9 1 1 1 1 3 3 1 2 2 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 1 1 0 1 1 1 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1 1 1 2 1 1 1 2 1 1 1 2 1 1 1 2 1 1 1 3 3 2 1 1 1 1 0 1 1 1 0 2 2 3 3 3 2 2 3 3 3 3 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		18 18 18 18	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 1 1 0 1 1 1 0 1 1 1 0 1 1 0 0 1 1 1 0 45 45 42 1 1 1 1 2 1 1 1 2 1 1 1 2 1 1 1 1 1 0 1 1 1 0 2 3 3 2 3 3 2 1 1 1 0 1 1 1 0 1 1 1 0 1 1 1 0 2 3 3 3 2 3 3 3 2 3 3 3 2 1 1 1 0 1 1 1 0 1 1 1 0 1 1 1 0 1 1 1 0 2 2 3 3 3 2 3 3 3 3 2 1 1 1 0 1 1 0 0 1 1 1 1 0 1 1 0 0 1 1 1 1 0 1 1 0 0 1 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 22 23 24 24 27 27 27 27 27 27 27 27 27 27	344 0 2 0 3 3 0 1 1 5 5 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0		18	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 1 1 0 1 1 0 1 0 0 1 0 0 1 0 0 1 0 0 1 1 1 1 2 1 1 1 2 1 1 1 1 1 0 3 3 2 1 1 1 0 1 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 10 29 24 20 2 2 2 2 2 2 1 1 1 1 1 1 2 2 2 2 2 2	2 4 0 2 0 3 3 0 1 1 5 6 0 0 3 0 2 2 0 1 1 1 1 0		, w r r w w x x x x x x x x x x x x x x x	3 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 1 1 0 1 1 1 0 1 1 0 0 1 0 0 45 45 42 1 1 1 1 2 1 1 1 2 1 1 1 1 1 0 3 3 2 3 3 2 1 1 1 0 1 1 0 1 1 0 1 1 0 1 1 1 0 1 1 0 1 1 1 1 0 1 1 1 0 1 1 1 0 1 1 0 0 1 1 1 1 0 1 1 1 0 1 1 1 0 1 1 0 0 1 0 0 1 0 0 1 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 29 20 2 2 2 2 2 2 2 1 1 1 1 1 1 1 1 1 1 1	566 2 2 3 3 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1 1 3 3 1 2 1 4 1 1 3 1 2 1 1 1	2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 0 1 1 1 0 1 1 1 0 1 1 0 0 1 1 1 1 0 1 1 1 1 1 1 1 1 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 29 22 2 2 2 2 2 2 2 3 0 0 0 0 0 0 0 0 0 0	566 2 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3		1 1 3 3 1 2 1 4 1 1 3 1 2 1 1 1	2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 1 1 0 1 1 0 1 1 0 1 1 0 0 0 45 45 42 1 1 1 1 2 1 1 1 1 1 0 1 1 1 1 1 1 0 1 1 1 1 0 1 1 1 1 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 22 24 22 22 22 23 24 44 44 44 44	0 2 2 0 1 1 2 2 0 0 2 0 1 1 1 1 1 1 1 1		1 3 3 1 2 1 4 1 1 3 1 2 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 0 1 1 1 0 1 1 0 0 1 0 0 45 45 42 1 1 1 1 2 1 1 1 3 3 2 1 1 1 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 24 22 22 23 24 44 44 44 44	wwo-1800w020-10		3 3 - 2 - 4 3 - 2	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 10 29 24 2 2 2 2 2 2 2 3 3 4 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1	301156033022011		3 - 2 - 45 3 - 2	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 0 2 2 1 0 1 1 1 0 3 3 3 2 1 1 0 0 45 45 42 42 1 1 1 1 1 1 0 0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 10 29 22 24 21 22 22 23 24 24 27 27 27 27 27 27 27 27 27 27 27 27 27	220110		2 - 45	2 2 2 2 2 3 3 3 1 1 1 0 0 45 45 45 45 45	1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 22 29 29 20 20 21 21 21 21 21 21 21 21 21 21 21 21 21	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1 4 4 1 W 1 W 1 1 A 1 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2 2 2 2 2 3 3 3 3 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 20 24 2 2 2 2 2 2 2 3 2 3 2 3 2 3 2 3 2 3	560000000000000000000000000000000000000		45	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 0 1 1 0 2 2 1 0 1 1 1 0 3 3 2 2 1 1 0 0 45 45 42	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	003020110	0 0 3 0 2 0 1 1	- LE (2) (2) LE	1 1 2 2 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 5 10 229 229 24 4	3020110	2 2 1 1 1 1	· W N	3 1 2 2 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 24 2 2 2 2	020110	0 2 0 1 1		2 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 24 24 2	20110	0 1 1 2 2 2		2 1	2 1 0	1 1 1 1 1 2 2 2 1 2	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 24 2 2	0-1-0			>	1 1 0	1 1 1 1	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	110 229 24 24	- 1- 0					-	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 10 29 24	0	-			h p-4		
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 10 29 24		0 1	0 1 0		1 0	1 0 0	1 0 0 0
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	55 10 29	19		15	15 15	15 15 14	15 15 14 21	15 15 14 21 18
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5 5 5	23	23 18		18	18 18	18 18 17	18 18 17 26
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	л (л	7	1	0 0	6	6 6	6 6 6	6 6 9 7
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-	4	1	4	w 4		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2 4 4 4
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		n c	-	4		2 -	400	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	. 0	0	0			. 1	000	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2	2	2 2	2 2 2	2 2	2 2 2	2 2 2 2	2 2 2 2 2
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1	0	0 1	0 1 1	1 1	1 1 0	1 1 0 0	1 1 0 0 0
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1		1	1	jest j	₽	1 1 1 0
1 1 1 1 1 0 1 1 0 1 1 1 1 1 1 1 1 1 1 1		- 0	0		0 0	0 0	0 0 0 1	0 0 0 1 1
1 1 1 0 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1	-	D	0 +				24	2,
1 1 1 0 1 0 1 1 0 1 1 0 1 1 0 1 1 0 1	- 00	1	1	4 2	1 1	1 1 1	1 1 1 1	1 1 1 1 1 1 1 1
1 1 1 0 1 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1 0 1 0 1 1 0 1 1 0 1 1 0 1	62	77	53 43	+	43 47	43 47	43 47 39 60	43 47 39 60 50
0 1 1	QUI	78	20 25	+	05	00 01	1 0 05 94 94 94 95 P4 95	05 05 01 94 /8
0 1		3	1					
, ,			. 0	4	A p	* 0	1 0	
) H		4	4	4	* L	
1 1 1 2	2		1 2	1 2 2	1 2 2 1	+	2	2 1
2 2	2	2	2 2	2 2 2	2 2	2 2	2 2 1 2	2 2 1 2 2
0	0	0	0 1	0 1 1	0 1 1 0	1 1 0	1 1 0 0	1 1 0 0
+	-	0		1)))	1 1 0 1 0
Abucay Bagac East West	Hermosa	Lima	Limay Lower	Limay Lower Upper	Mariveles	Lower Upper	Lower Upper Morong	Marryeles Marryeles Morong Orani

NO. 113 114 115 116 117 118 119 120	Texas Mathematics Course 1 Texas Mathematics Course 1 Texas Pre Algebra Variable And Patterns Biologia Ell Resource Sampler Biology (Prenticehall) Biology Six Edition Chemistry Matter And Change Ga Lab Man Se Gr2 Sci 2007 / Lab Manual	SUBJECT Mathematics Mathematics Mathematics Mathematics Mathematics Science Science Science Science Science	BATCH NO. Batch 2	2	Bagac 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Dinalupihan East 2 1 1 1 1 1 1 1 1 1 1 1 1	Dia			Hermosa Limay 3 3 3 0 1 1 0 1 1 0 1 1 0 1 1 0 0 1 0 1 0 55	Hermosa Limay Lower Lower 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Hermosa Limay Mariveles Ma 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	Hermosa Limay Mariveles Mariveles Mariveles Upper Uppe	Hermosa Limay Mariveles Lower Lower Upper Uppe	Hermosa Limay Mariveles Mariveles Morong 3 3 3 2 2 0 1 1 1 1 1 0 1 1 1 0 3 2 3 2 2 2 1 1 1 1 0 0 1 1 0 0 1 1 0 1 1 1 0 1 1 1 0 1 <	Hermosa Limay Mariveles Lower Mariveles Upper Morong Orani 3 3 3 2 2 3 0 1 1 1 1 1 1 0 1 1 0 0 3 2 3 2 2 3 1 1 1 1 0 0 0 1 1 1 0 0 1 0 1 1 0 0 1 0 1 1 1 1 1 0 1 1 1 1 1 70 55 44 44 41 63 41	Hermosa Limay Mariveles Mariveles Morong Orani Orion 3 3 3 2 2 3 2 0 1 1 1 1 1 1 1 1 0 1 1 1 0 0 0 0 3 2 3 2 2 3 2 3 2 1 1 1 1 0
123 123	Ga Lab Man Se Gr2 Sci 2007 / Lab Manual Ga Lab Man Se Gr2 Sci 2007 / Lab Manual Ga Lab Man Se Gr2 Sci 2007 / Lab Manual Gateway To Science	Science Science Science	Batch 2 Batch 2 Batch 2 Batch 2	52 213 138 0	46 191 124 0	52 213 138	76 315 204		70 292 189			55 44 225 180 146 117 0 1	55 44 225 180 146 117 0 1	55 44 44 41 225 180 180 169 146 117 117 109 0 1 1 1 0	55 44 44 41 63 225 180 180 169 258 146 117 117 109 168 0 1 1 0 0	55 44 44 41 63 52 225 180 180 169 258 213 146 117 117 109 168 138 0 1 1 0 0 0	55 44 44 41 63 52 44 225 180 180 169 258 213 180 146 117 117 109 168 138 117 0 1 1 0 0 0 0 0
127	Glencoe / Oh Macgraw Hill / Texas Science Grade 7			10	9	10	14		14			111 9	111 9 9	111 9 9 8	11 9 9 8 12	11 9 9 8 12 10	11 9 9 8 12 10 9
129	Harcourt Science Heat Student	Science		10	10	10	10		10				0 1	1 0 0	1 0 0		
131	Holt Science And Technology Holt Science And Technology Grade 6	Science	Batch 2 Batch 2	0 2	0	0 2	0		0 2	0 0			0 1 1	0 1 1	2 1 1 1 2 2	2 1 1 1 2 2	2 1 1 1 1 2 2 0 1 1 1 0 0 0
133	Holt Science Skills Workshop	Science		00	00	10	10		10					1 1 0	1 1 0 0	1 1 1 1 1 1	
135	Human Biology And Health	Science	Batch 2 Batch 2	7	60	7	10 1		9	9 7	+	7	7 7	7 7 6 5	7 7 6 5	7 7 6 5 8	7 7 6 5 8 7
136	Integrated Physics And Chemistry Laboratory Manual & Biology	Science Science		2	2	2	2		2			0 1 2 2	0 1 1 2 2 2 2	0 1 1 2 2 2 2	0 1 1 0 2 2 2 1	0 1 1 0 0 0 2 2 2 1 2 2	0 1 1 0 0 0 0 0 2 2 2 1 2 2 2
138	Prentice Hall - NJ Ar Content Review Gr 6-8 / Prentice Hall Science Explorer	Science	Batch 2	2	2	2	4		w			3	3	3 3 2	3 2 2	3 3 2 2 3	3 3 2 2 3 2
140	Science Grade 6	Science	Batch 2	0 00	0 7	0 00	0		011	0 0		0 9	0 9 8	9 8 7	9 8 7 7	9 8 7 7 10	9 8 7 7 10 8
142	Science Grade 8	Science	Batch 2	0	0 -		1		0 2	+	+	+	+	+	+	+	+
143	Science Taks Practice Workbook	Science	Batch 2	0	0	,	, p) (0 1 1	0 1 1 0			
145	State And Region	Science	Batch 2	00	00	10	-		-0	+	+	+	+	0 1 1	0 0 1 1 1 0 0	0 0 0	
146	Texas Richary / Lah Manual	Science	Batch 2	1	JL) 11	J 1		0		1	1	1 1 1	1 1 1 0	1 1 1 0 1	1 1 1 0 1 1	
148	Texas Science G7	Science	Batch 2	40	36	- 6	58		54		42	42 34	42 34 33	42 34 33 31	42 34 33 31 48	42 34 33 31 48 40	42 34 33 31 48 40 33
150	Texas Science Grade 7 Whiz Rang Demonstrations	Science	Batch 2	4 07	4 0	2 07 1	n on l		n (5)	2 5	1	2 07	5 4	ν Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ Δ	2 4 1	2 4 4 4 6 6	2 4 4 5 6 5
BATCH 2	3	BA	BAICH 2 IOIAL	1,532	1,362	1,572	2,263		2,108	2,108 1,618		1,618	1,618 1,368	1,618 1,368 1,345	1,618 1,368 1,345 1,204 1	1,618 1,368 1,345 1,204 1,860	1,618 1,368 1,345 1,204 1,860 1,534 1
-	entice Hall Economics Principles I	Economics	Batch 3/Loose	1	1	1	-	1	1	1 1	1 1	1 1 1 1	1 1 1 1 0	1 1 1 1 0 1		1	1 0
2	Glencoe Writers Choice Grammar & Composition # 8	English	Batch 3/Loose	0	0	1	1		-	1 1	1 1 1		т	1	1 1 0	1 1 0 1	1 1 0 1 1
ω	Writers Choice Grammar	English	Batch 3/Loose	0	0	0	0		0	0		0	0 1	0 1 1	0 1 1 0	0 1 1 0 0	0 1 1 0 0 0
4	#7 Glange Writers Choice Grammar 8. Composition	English	Batch 3/Loose	4	4	Ŋ	6		6	6		r.	4	5 4 4	5 4 4 4	5 4 4 4 6	5 4 4 4 6 5
ת עו	#9 Glencoe Writer'S Choice Grammar & Composition	English	Batch 3/Loose			2	2	1	2	-	2	2 2	2 2 1	2 2 1 1	2 2 1 1 2	2 2 1 1 2 2	2 2 1 1 2 2 1
7	Texas Edition #6 (Blue Cover) Handbook Edition Prentice Hall Writing And Grammar Gold Level	English	Batch 3/Loose Batch 3/Loose	4 4	4	1 4	1 6	- 1	1 6	1 4		1 4	1 4	1 4	1 4 4 3	1 4 4 4 3 5	1 1 1 1 1 0
0 00	Holt Grammar, Usage, Mechanics Language, Practice (Course 4)	English	Batch 3/Loose	0	0	0	н		0	0 0		0	0 1	0 1 1 0	0 1 1 0 0	0 1 1 0 0	0 1 1 0 0 0
10	Interactive Reader Grade 9	English	Batch 3/Loose		.	2	2		2		2	2 2 4	2 1 2 2 6 1	2 1 2 2 6 1	2 11	2 2 1 1 2 1	2 2 4 1 1 2 1 1
12	The Interactive Reader Plus		Batch 3/Loose	2	2	2	2	1 1	2	2 2	$\mid \cdot \mid$	2	2 2	2 2 2 2	2 2 2 2 2	2 2 2 2 2	2 2 2 2 2 2 2

			54					49 1		L	L	L			1	43	1		39	. 38				35	34	33	22	3	31	30	29		77	3	25	24	23	22	21	20	19	18	/1	10	15	14	13	NO.
Cayon Math Course 7 Ctahon Units	Lexas Mathematics	Procince nall Matternatics Texas Algebra 1	Prentice Hall Mathematics Geometry (Texas)	Teacher'S Edition	Measuring And Applying) Prentice Hall Mathematics Course 3 Oktahoma	Mcdougal Littell Geometry (Reasoningm	Mathematics In Context Level 1	Mathematics Course 2 (Holt Mcdougal)	Mathematics Course - Online Edition	Mathematics A Bridge To Algebra Ii	Mathematics 4 (Macmillan Mcgrew-Hill)	folt Texas Geometry	Hoit Mcdoudal Geometry Green Cover	not Madrieriaucs course I	Holt Mathematics (3)	Holt Mathematics (2)	Holt Geometry	Volume 2	Haughton Mifflin Math Expressions Grade K-	Connections Course	Glencoe Mathematics Applications And	Geometry (Integration, Application, Connection)	(Mcdougal Littell)	Geometry - Practice Workbook With Examples	Geometry - Notetaking Guide (Mcdougal Littell)	Discovering Algebra (An Investigative Approach)		Algebra And Trigonometry (Functions &	Aloebra 2 Mix	Algebra 1/2 (An Incremental Development)	1	Algebra 1 (Texas)	Edition	1 (An Incremental Develor	Algebra (Integrations, Application Connections)	Algebra	Traceira	The Language Of Literature - The Interactive	Prentice Hall Literature Readers Notebook Adopted Version	Mcdougal Little - The Language Of Literature	Indiana Mcdougal Little Literature British Literature	Diamonds	Elements Of Literature (Holt Multicultural Reader)	being Healtry	Writers Thesaurus	The Interactive Reader Plus (Yellow)	The Interactive Reader Plus (The Language Of Literature) (Red)	NAME
Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathamatica	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	The state of the s	Mathematics	Mathematics	Mathematics	Mathematics		Mathematics	Mathematics	Mathematics	Mathematics	ride Cindero	Mathematics	Mathematics	Mathematics	Mathematics	Mathematics	- idan cilidac	Mathematics	Mathematics		Literature	Literature	Literature	Literature	Literature	Literature	Health	English	English	English	SUBJECT
Batch 3/1 pose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	battch 3/Loose	2 6	Batch 3/1 nose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	patch 3/Loose	Batch 3/Loose	Batch 3/Loose	Carre of monor	Ratch 3/I oose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose		Batch 3/I nose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	ממננון של הטטפר	Ratch 3/I once	Batch 3/Loose		Batch 3/Loose		parci of roose		Batch 3/Loose	D-1-1-2/	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	Batch 3/Loose	BATCH NO.
			2	4	0		0 0	10	2							, -	1		٩	-	ω	2		.u	4	0	ı	TO	T		8					0	T	11	-	-	2	ш	5		0		2	Abucay
J -	. 4		2	4	c	,		٩	-	-	ω	4	ω	0	u)	0	c	00	н	2	2		J	4	0	-	9		0	8	4 31			٠,	4		0	j.,4.	-	0	0	5	4	1	2	2	Bagac
2)-	. 5	3	2	4.	1		1 0	10	2		З	ر ن	3	1	J	٠.	1	,	D		ω	2		J.	4	<u></u>	1	10	5	-	00	4 35	1		2 6	2 1		1		_	2	1	ъ	4	1	2	2	Dinalupihan East
A	6	5	ιω	o	1		- 1-7	14	2	2	5	Ø	5	1	5	1	1	to	13	j.ed	4	2	1	4	7	L	2	CT	ń,	-	12	51	2		٦	2 1	,	-	2	2	ω		7	6	1	ω	ω	Dinalupihan West
4	5	5	2	CA	C		4	14	2	2	4	σı	5	0	4	1		7.1	13	<u></u>	4	2	T	A	6	1	2	14	2	0		47	2	7	2	2 1	,	J	2	2	ω	₩.	7	6	1	ω	ω	Hermosa
J .	5	ω	2	4	0		4 1	11	2	-	ω	CT1	4	0	u	0			0	-	ω	2	L	u	υı	0	1	TI		0	9 .	37	2	7	١ ١	0 1	,	⊢	1	_	2	Н	6	5	1	2	2	Limay
J -	4	ω	2	4	1	-	•	0	2	-	ω	4	4	1	C.	, , , .	0		7	j _m t	2	2	2	J	4	-	2	a	,	-	00 -	29	2	7	٠	4	,	1	3 —8.	_	2	L	5	4	1	2	2	Mariveles Lower
J -	4	3	1	ω	1	-	1	0 -	4	-	ω	4	ω	-	3)	0	,	7		2	1	,	J	4		ь	a	0 ,	-	7	29	2	^	۰ ا			1	j4	-	2	0	UI	4	1	2	2	Mariveles Upper
J -	4	ω	1	ω	0	-	4 0	α -	4	-	2	4	ω	0	L.	0	0	,	7	щ	2	1		j	4	0	1	α		0	7	27	p	7	۰ ا	4		0	ş4		2	0	4	4	0	2	2	Morong
J	6	4	2	u	0	-	77	13	2	-	4	6	4	0	4	1	-	1.1		-	ω	2		3	Ŋ		1	71	3 0	0	10	42	2		2	J	,	1	-	1	2	-	7	5	1	2	ω	Orani
J -	5	ω	2	4	0	-	10	10	2	-	ω	υı	3	0	u	1	-	7	0	—	ω	2	·	u	4	0	1	TO	5	0	00 -	35	1			0		0	1	1	2	1	5	4	0	1	2	Orion
J -	4	ω	1	ω	0	-	1	0 -	-	1	ω	4	ω	0	L	0	0	,	7	₩	2	1	^	J	4	0	1	α	0	0	7	29	-		,	-	,	-	<u></u>		2	0	UT	4	0	-	2	Pilar
7 0	w	2	1	ω	0	-	1	7	-	-	2	w	2	0	2	0	0	C	6	jand.	2		7	,	ω	0	-		1 0	0	5	24	р	-		0		-	1	1	1	0	4	ω	0	1) -4	Samal
77	60	43	23	52	4	TI	701	122	21	15	41	61	45	4	42	9	7	4.7.7	1	13	35	22	33	o n	58	6	16	130		4	109	451	19	25	2 0	10	14	10	15	15	25	89	70	57	8	25	28	TOTAL

0		0		-4	>				6			000000	THE EXPLORE MOVEHILIES IN LIFE, Edited And	100
2	2	1	1	1	2	2	2	2	1	2	Batch 3/Loose		Printice Hall Science Explorer (Grade 8)	
	0 1	0 (1		0	1	1	- 1	0	0	Batch 3/Loose		Preparing For Fcat Science Grade 8	
0	0	0	0	1	0	0	0	0	0	0	Batch 3/Loose	Science Ba	Prentice Hall Science Explorer Teacher'S Edition	99 Pn
0	0	0	0	1	0	0	0	0	0	0	Batch 3/Loose		Prentice Hall Science Explorer Teacher'S Edition (Maroon Cover)	98 (M
	1	-	1	1	1	2	2	1	1	ь	Batch 3/Loose	Science Ba	Explorer Grade 7	97 Pr
0	0	0	ш	ы	0	0	ı	1	0	0	Batch 3/Loose	Science Ba	Prentice Hall Science Explorer Florida Manatee	96 Pr
0	0	0	0	↦	0	0	0	0	0	0	Batch 3/Loose	Science Ba	Prentice Hall Science Explorer Florida Everglades	95 Pr
	6	4	4	4	5	6	6	5	4	55	Batch 3/Loose	Science Ba	Prentice Hall Science Explorer (Grade 6)	94 Pr
1	15	10	11	11	13	17	18	13	11	12	Batch 3/Loose			
	4	ω	ω	4	4	UT (unic	ω.	ω.	ω.	Batch 3/Loose		Modern Chemistry	
4	л	<i>u</i> -		ا در	4	л	D -	4	4 0	4	Batch 3/Loose	Science Ba	Mcgraw Hill Science (Fish Cover)	
	2			4	2	2	2	2	D	2	Batch 3/Loose		Tava	90 M
	2	-	2	2	2	2	2		-	-	Batch 3/Loose	1	Modernal Littell (Science Could (Red))	
1	1	l	P	1	1	1	1	1	1	-	Batch 3/Loose		Holt Science And Technology (Green)	
0	0	0	1	1	0	1	_	1	0	0	Batch 3/Loose		Holt Science And Technology (Florida)	
	-	1	1	1	-		-	-		-	atch 3/Loose		Holt Science & Technology	
J	ا	3 0	3 0	J C	۱ اد	۰ اد	J -	J 1-	J C	- ا	Batch 3/Loose	Science B	Earth And Physical Science Units A-F Tiger Cover Harcourt Science Tiner Cover	
. 1				,							7/1		Harcourt Science Texas Teachers Edition Life,	SS H
0	0	0	ь		1	1		H	0	<u>,</u>	Batch 3/Loose	Science B.	Harcourt Science Texas Teachers Edition Life, Earth And Physical Science Units A-F Nemo Cover	82 H
2	2	1	2	2	2	2	2	2	2	2	Batch 3/Loose	Science B	Harcourt Science Lousiana Edition	1
	1	1	,	1		2	2	1	1	,	Batch 3/Loose		Harcourt Science Frog Cover	H 08
7	9	6	7	7	œ	10	11	7	7	7	Batch 3/Loose		Harcourt Science Chameleon	
w	4	2	ω	ω	ω	4	5	ω	ω	ω	Batch 3/Loose	Science B	Resource Assessment Guide/Teaching	
1	2	1	2	2	2	2	2	-	_	1	Batch 3/Loose		Harcourt Science - Nemo Cover	77 H
0	-	-	1	-	-	1	1-1	-	0	0	Batch 3/Loose	Science B	Harcourt Science - Butterfly Cover	76 H
-	H	1	H	2	1-1	2	2	1	-	-	Batch 3/Loose	Science B	Harcourt - Science Earth Science Unit C And D	75 H
4	Uī	ω	4	4	4	6	6	4	4	4	Batch 3/Loose	Science	Glencoe Science The Changing Surface Of Earth	74 6
-	8	5	5	6	7	9	9	6	6	6	Batch 3/Loose	L	Glencoe Science Astronomy	73 6
w	4	ω	ω	ω	4	5	ST .	ω,	ω	ω	Batch 3/Loose		Glencoe Mcgraw Hill Texas Science Grade 7	
	- 1	,			,	-	-	-	0	0	Ratch 3/I onse	1	Glencoe Integrated Physics And Chemistry	
-	2	-	1	2	1	2	2	1	-	1	Batch 3/Loose	Science B	Florida Level Green Holt Science & Technology	70 F
ω	ω	2	2	2	ω	4	4	ω	2	ω	Batch 3/Loose	Science B	Florida Level Blue Holt Science & Technology	69 F
-	-	0	ы	н	H	H	1	1	0	0	Batch 3/Loose	Science B	Horida Edition Mcdougal Litter Science (Grade 7)	68 F
3-4	ш.	-	1	1	-1	-	1	L.	1		atch 3/Loose		Earth Materials And Processes	67 E
u L	4		٠, ٠.	٨.	I	4 ~	5 /	ω -	w	ω -	Batch 3/Loose	Science B	Assessment Guide California Science	
IN	u	7		^		C	ú				arch 2/Loose		Mathematics	
	1 0	٠, د	٠,	2 6	J	، د	ı,	3	,	2	Batch 3/I oose	-	Texas Mathematics Course 2 Glencoe	
	2 4	1	- 0	2	2	2 4	2	2	- (2	Batch 3/Loose	Mathematics B	Texas Mathematics 3	63
10	0	0	٠- د	۰ ر	0	0	n -	0	0	0			Texas Mathematics (4)	1
0	0	0	1	ы	ы	-	1	-	1	1	Batch 3/Loose		Dougal Littell	
w	ω	2	2	2	w	3	4	ω	2	w	Batch 3/Loose	Mathematics B	Mathematics (5) Teachers Edition Math Course 2 - Denocytopolis	
w	4	w	w		4	5	5	ω	ω	ω	Batch 3/Loose	1	Teacher Edition Macmillan Mcgrow-Hill Texas	
-	Orani Orion	Morong	Upper	er	Limay	Her			Bagac	Abucay	BAICH NO.		22	1
	-		Mariveles			_	Dmaluphan	Dinampinan						

0 5 2 30 2 45 2 38 0 4,167	0	309				-		-					200)	
0 2 2 2 0	0		380	247	290	316	339	433	400	333	417	OTC			
2	2	0	C	c	_	-				,		340	DOSE TOTAL	BATCH 3 / LOOSE TOTAL	THE PROPERTY OF THE PROPERTY O
2 2 0) u	1	2	1		0	0	-	1	0	0	Batch 3/Loose	Social Science	Comprehensive Volume
0		, u	1	ی د	3	J -		4	4	ω	ω	ω	Batch 3/Loose	Social Science	Social Studies (People & Places)
0	2	2	4 0	2	2 2	4	4	л	5	ω	ω	ω	Batch 3/Loose	Social Science	Social Studies (Communities)
-	0		,	10	J-	٠	2		ω	2	2	2	Batch 3/Loose	Social Science	Social Studies (All Together)
2	2	0) L	2		1	0	(- -	-	0	0	Batch 3/Loose	Science	Wood Technology & Processes
0	0	0	-	0	1	J	w c	٠,١	4	اس	2	ω	Batch 3/Loose	Science	The Air Around You
00	10	77	10	200	10	4 1	2	-	-	-	0	0	Batch 3/Loose	Science	Lexas Science Grade 8
ω	4	4	10	50	5 7		12	17	18	12	11	12	Batch 3/Loose	Science	Texas Science (Grade 6)
0	0			00	4 -	4	л	201-	5	4	4	4	Batch 3/Loose	Science	Lexas Science (Activity Manual)
4	0	o		0	4 (0	-	-		0	0	Batch 3/Loose	Science	Study Guide Chemistry (Paul B. Kelter)
			7		7	л	6	7	8	6	U1	6	Batch 3/Loose	Science	Scott Foresman Science Texas Edition
4	6	7	7	ΔI	6	6	7	œ	9	7	6	7	Batch 3/Loose	Science	Manual
0	0	1	1	0	0	0	1	I	T	1	0	-			Scott Foresman Science Teachers Edition Lab
2	ω	4	4	ω	3	u	4	·		- 1		-	Batch 3/I oose	Science	Scott Foresman Science Teachers Edition
2	2	ω	w	2	2		u	1 4	n 4	4 0	10		Batch 3/I oose	Science	Scott Foresman Science Green Cover
0	0	0	0	0		-		4	4	٠	2		Batch 3/Loose	Science	Scott Foresman Science
2	ω	ω	4	2	w	3) w	4 4	4 0	- 0	0	0	Batch 3/Loose	Science	Science Journal Mcgraw - Hill Science
Sellings	1,000	O I I I			upper	t			1	١	u		Batch 3/I once	Science	Science Explorer Grade 8
Camal	Dillar	Orion	Orani	Morona	Mariveles	7	Limay	Hermosa		Dinalupihan Dinalupihan	Bagac	Abucay	BATCH NO.	SUBJECT	NAME

Prepared by:

Edgar E. Garcia EDGAR E. GARCIA A Education Program Supervisor, LRMDS

Conformed for the Distribution of Supply Office:

Administrative Officer IV, Supply

Senior Education Program Specialist, SOCMOB

Noted:

MILAGROS M. PENAFLOR, PhD Chief Education Supervisor, CID

Recommending Approval:

ARMANDO C. CAPILI, EdD
Assistant Schools Division Superintendent

Approved:

CAROLINA S. VIÓLETA, EdD, CESO V Schools Division Superintendent